REVISIONS

NOTES: REV. ECN DESCRIPTION BY

DATE

04/20/20

A | 8000040496 INITIAL RELEASE JA
1.0 GENERAL

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS
1.2 FOR PATENTS, SEE WWW.CS-PAT.COM

2.0 DESIGN NOTES
3.0 MANUFACTURING/SPECIAL REQUIREMENTS
4.0 TEST
5.0 PACKAGING
JIADNY
N ADJUSTABLE TO FIT POLES FROM
O 6"-13" IN. DIAMETER
,EJI‘]J, ,EJ;J, ,[J;J,
N I e B
L1 | , _ _ , | | \
/7 \—i\
B C ) - @j@
O:M — 0 6.93[176.10]
ai@):@) B — O @j@j
!
COMMSCOPE, INC. OF NORTH CAROLINA
TOLERANCES SAP MATERIAL MASTER
1PLACE X .25 3PLACE Xxx+ (.06
2PLACE XX+ 0.12 ANGLES  + 2° SCPTRU-200-T
FINISH MATERIAL
TEM NO PART NUMBER DESCRIPTION QTY GALV A123 A1011/A1018 GR 36, A572 GR 50
1 MTC4100 TOP PLATE, SMALL CELL WOOD 1
POLE 5 NAME DATE | TITLE
o 5 1132 920
2 [Mre4T02 TOP CAP CROSSOVER > TE i s SECTOR MTC9313613 ANTENNA TOP MOUNT
3 GUB-4240 1/2' X 2-1/2" X 4" GALV U-BOLT 6 DENSITY bsint| G2z W
253 |RV
4 GB-0522A 5/8" X 2-1/4" GALV BOLT KIT (A325) 3 MASS |54.95 lbs %gg AD |ESTOBT U5/T212020
S MT-381-8 5/8" X 8" GALV THREADED ROD 3 VOLUME | 194.45 in? 22& [Rg |BCROSS 051212020 SCALE | DOCUMENT NO.
6  |GWF-05 5/8" GALV FLAT WASHER, 1.70D 15 SURFACEAREA 117280 i* | 255 |EcN 008000040496 1:4 SCPTRU-200-T
. HEIGHT SIZE  |WORKAREA 24 MODEL DRAWING
/ GWL-05 5/8" GALYV LOCK WASHER 12 LENGTH VERSION | STATUS | REVISION | VERSION | STATUS | REVISION | - oo
8 GN-05 5/8" GALV HEX NUT 12 A @ 2020 CommScope, Inc. Confidential WIDTH C 6 02 RE 02 RE A 10F 2




NOTES:

@ D
ENSURE HORIZONTAL OF TOP CAP IS IN CONTACT WITH PIPE
ITEMS SOLD SEPARATELY
am! Se=—== .
L | M 1 ESEEEZ%
< S===
' © (€{eoo
DETAIL A ===
SCALE 1 : 6 \ C
ITEMS SOLD SEPARATELY
ITEMS SOLD SEPARATELY
PIPE MUST BE SCH. 40\
@l\m THREAD USED FOR LEVELING
DETAIL B MAXIMUM EXPOSED ALL THREAD
SCALE 1:6 LENGTH BETWEEN NUTS g 3
IS 5IN.

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

3 SECTOR MTC9313613 ANTENNA TOP MOUNT A

SIZE SCALE DOCUMENT NO.

Cl| 1:24 SCPTRU-200-T

DRAWING

@ 6 VERSION | STATUS | REVISION SHEET
@ 2020 CommScope, Inc. Confidential 02 RE A 20F 2




	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet2
	Drawing View2
	Drawing View7
	Detail View A (1 : 6)
	Detail View B (1 : 6)


